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Section 8.5 : Probability
-

In probability ,
we assume we conduct an

"

experiment
"

with multiple possible outcomes
,
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A
"
random variable

"

,
usually written as

a capital letter
,
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Y
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assigns a numerical value to
every possible

out come of an experiment?
Technically it is a function from the set

of all possible outcomes of an experiment to
the real number "

Experiment : I tip a coin

outcome, { Heads
,

Tails }
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Experiment : I roll 2 dice
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Experiment : I roll 2 dice
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Experiment : I roll one C6 - sided die

D= number rolled
,

The probability of an event in an experiment
is a number between O and I ( between

0% and 100% ) which is the proportion of
the time we expect that event to occur

it we repeat the experiment many times
.
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Experiment :

Iroflonecorsidedldieffnumherrhl
The probability of an event in an experiment

is a number between 0 and I C between

0% and 100% ) which is the proportion of
the time we expect that event to occur

it we repeat the experiment many times
.
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In this example
,

assuming the die

isfair
,

the pvobabiity I roll a
5 is

%
'

we write this :
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. f) = -36--4=509.



Suppose X is a discrete random variable

with possible outcomes X , ,
Xc
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The
"

average value "

of a random variable X ,

or the
"

expected value
"

or the "
mean value

"
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It is the weighted average at the possibly

outcomes of the experiments .
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